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1) ROFEAZEZMELGS, (2R X108)

1 xX’=4 2) x°—6=0
2 2
3) 2x =14 4) 3x —15=0
2 2
5) (x—1) =5 6) (x+2) —6=0
2 2
7)) x +2x+1=3 8) x 4+2x—-5=0

9) (x—2)(x+5)=0 10) —x(x+2)=0



NTHERADER(BFRREIFH
3F—9A —3:#E—KIg A =]
K4
2) ROFEXZMEGSL, (2R X10%8)

1 xX°=7 2) x°—81=0
2 2
3) 3x =21 4) 4x —12=0
2 2
5) (x+5) =81 6) (x—11) —48=0
2 2
7)) x —4x=1 8) x +6x—7=0

9) 4(x—1)(x—6)=0 10) x(x+3)=0
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3) ROFEAZREEIL, (2R X108

1 x°=9 2) x*—15=0
2 2
3) 2x =6 4) 5x —35=0
2 2
5 (x—2) =7 6) (x+1) —25=0
2 2
7) x +6x=8 8) x —8x+4+4=0

9) (x—5(x+1)=0 10) 3x(x+8)=0
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4) ROFEXZMELGSL (2R X10%)

1) x°=5 2) x°—49=0
2 2
3) 5x =20 4) 7x —1=0
2 2
5 (x+6) =12 6) (x—4) —121=0
2 2
7) x —6x+4+9=5 8) x —5x—3=0

9) (x—#’=0 10) —2x(x—5)=0
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2_1 2 _
1) x =1 2) x —1.21=0
2 2
3) 13x =1 4) 2x —38=0
2 2
5) (x—7) =24 6) (x+5) —98=0
2 2
7) x +5x=-1 8) x —9x—12=0

9) 7(x+1)(x+8)=0 10) x(x—2)=0
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1) ARE—m@E (2K X10%) A =]

1) x==%2 2) x=i\/g 3) x=i\/; 4) X=i\/;
5) x=1i\/g 6) x=—2¢\/g 7) x=—1i\/; 8) x=—1i\/g

9) x=2,-5 10) x=0, —2

2) KRE—M@E (2R X108 A B

1) x=i\/; 2) x==%9 3) x=i\/; 4) x=i\/;

5) x=4,—-14 6) x=11x4 |3 7) x=2¢\/; 8) x=1, —7
9) x=1,6 10) x=0, —3

3) KE—M@E (2R X108 A B

1) x==%3 2) x=i\/g 3) x=i\/; 4) x=i\/;
5) x=2¢\/; 6) x=4,—6 7) X=—3i\/; 8) x=412\/g

9) x=5,—-1 10) x=0, —8
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4) KE—@RE 2RX10%8E) A H
7
1) x=i\/; 2) x==x7 3) x==+2 4) x=i£

5) x=—-6x2 |3 6) x=15,—-7 7) x=3i\/; 8) x=gi
9) x=4 10) x=0,5

5) &E—ME (2R X108 A B
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13
Doxmxl 2 xma1 © xmxlt 4 xes 1o

13
5) x=7+2 |6 6) x=—5+7/[2 7) X=—gi

1

S
©

8) x=§i 9) x=—1, =8 10) x=0, 2



